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LABFTS EANTRER
= (12,000,000+5,000,000 ) *20%
= 17,000,000%20%
= 3,400,000

2 RAFMS BT ER
= 12,000,000%20%
= 2,400,000
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3. NETEISMNRIS TN 2 45 2 BTN ER
= 3,400,000-2,400,000

=1,000,000
4. BN AEI AR AR B R O R ER
=1,000,000
(=)
1.ABFSEMTIER
= (10,000,000+3,000,000 ) *20%
= 13,000,000*20%
= 2,600,000
RS EMTRER
=10,000,000*20%
= 2,000,000
3. NETRISNER 1S TGN 2 45 E FEAMTR R
= 2,600,000-2,000,000
= 600,000
4. BN A EI AR AR B R O R ER
=500,000
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2. (B+KR+=+EFSEMFIZE = (5002 + 2008 + 1508-1008 ) * 20%=1508

&+ KX)FTISEMFIEE = (5008 + 2008 ) * 20%=1405
(B)FTSEANTRIZE = 5008 * 20%=1005

TNETEISNER1S FrIE NFE ANFR 28 = 15055-14088 = 1085<4085......... 108
INET ARBEFRSFTIE INFEANTREE = 14088-1008 = 408>208......... 208

N\

HEEMTREE = 1508-108-20& = 1208

3. /BFRSFEMTIEE = (2,0008 + 1,0008 + 1,5008 ) * 20%=9005
NEF 1S EANTREE = 2,00088 * 20%=400%
N0EtEDSNER 1S I N FE 4h R 28 = 900E8-4008 = 5008 >480& ... 1548058
EEFEATRRE = 900E-4805 = 4208
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